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Example 8: Graph and label all vertices, if there are any:
r? + 422 + 16y + 82 — 12 =0

Solution: Write in standard form:

2+ 422 + 16y +82—12=0

2% +4[2% + 22] + 16y — 12 = 0

[
22 +4[(z+1)2 - 1] +16y —12=0
2?2 +4(z+ 1) -4+ 16y —12=0
x? + 4(z + )2—16——16y
x? (2 1)?
- X 4] =
16 g TV
2 (241) (®
_— - N T 1: :
{16 Ty ]+ Yo ]

Example 9: Graph and label all vertices, if there are any:
202 4+ y?2 — 22 -62-9=0

Solution: Write in standard form:

5 0 0 0 6 9—0 rz — trace:
Ty —# mormY= 222 — (2+3)2 =0
20° +y? —[22+62] -9=0

0 0 z:—Sj:\/éx-
22 + 4y —[(2+3)2 -9 —-9=0 5

- |
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222 + y? — (2 + )2+9 9=0
2z° +y* — (2 +3)° =




